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Model (1)

A) Using the the following Model , color the result of what

the following addition represents , then write the result
0.56 + 0.15

B) Match each of the following cards to the suitable cards :

The Value of the unknown 0.12x10 6,630+26 6.4 x1.7
in the equation

xX+2.75=12.5

9.75 10.88 1.2 255




Model (2)

A) Match from column A and C what fits in column B so

that the shading indicates the process

A B C

0.32

0.67-0.35

0.47+ 0.28

X
X 0.75
X
X

X X< [ [ >I< <] ]
SEX| XXX} > > [

XX | X[ XX X XX

B) To climb the below_stairs . you must solve every

exercises that comes to you at each step.

3,699.88 =....... (to the nearest tenth)

1.35-0.875 =....
(G.C.F)of8,12is...

(L.C.M)of3,4 is...




Model (3)
A) Complete the following factor trees, then find ( G.C.F)

of the two number :

18
) G

B) put the numbers 13.72 and 3.43 in the place value table,

then complete:

Ones . decimals
hundred tens ones , Tenth hundredth

1) 13.72 =...... (to the nearest tenths)

D372 + 3.43= " i,




Model (4)

A)One of the students found a picture of one of the

tourist cities in Egypt and was able to identify the name of
the city by finding the value of unknown of each of the
following:

N S) ()

82+ x =9 0.6x04=x 840+ x =84

X) © ()
X is the( L.C.M) of 6% — = 5; X ls { G@ggof two
two number 5 and 6 number 8 and 12

- Write the letters in order according to the value of the
unknown ( to get the name of the city ):

- The name of the City: cieveeiiiineieiineeiineennnnns
B) with using the following Model , color that represents

adecimal 0.73 .




Model (5)

A) Use the following cards To find : 3 ) a4

- |

1) Five different decimal numbers formed from 3 digits including
whole number, a tenth and a hundredth :

2) Write The greatest and smallest number of the previous
numbers you have formed :

The greatest number is.................
The smallest number is ..................

3) When we multiply the two numbers 2.48 and 8.24 , we get

4) 4.82=......... kL oe gudesio. o f YT T (in expanded form )
B) Match each the following cards from group (1) to
group (2):
8.74 X 8.74
342 | «x 3.425| 2.52 x | 2.52

@

5.32 6.22 5.945




Model (1)

A) Using the the following Model , color the result of what

the followinqg addition represents , then write the result

0.56 + 0.15

0-56

+o/]5

o.7]

B) Match each of the following cards to the suitable cards :

The Value of the unknown 0.12x10
in the equation
X+2.75=12.5 4— 2

9.75 10.88

6,630+26 6.4 x1.7

255 | [20-38

1.2 255
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Model (2)

A) Match from column A and C what fits in column B so

that the shading indicates the process

A B C
0.67-0.35 0.32
XX XX
0.47+ 0.28 XX 0.75
XX XX
XX X[ X
XX |X
XXX
XA X
X [ XX
X TXTX

B) To climb the below_stairs . you must solve every

exercises that comes t% you at each step.

3,699.88 ~....... to the nearest tenth)

315%43=. 1—3 795
1.35-0.875 = Q"/?S-

(G.CFofg,12is.&f

(L.C.M)of3,4 is...

A2




Model (3)

A) Complete the following factor trees, then find ( G.C.F)

of the two number : 6
G f-
z

9 :

ofo

4

) @

B) put the numbers 13.72 and 3.43 in the place value table,

then complete:

Ones . decimals
hundred tens ones , Tenth hundredth
i%w.5 . 7z 2
3 - ¢ 3

1) 13.72 4.3..;*[0 the nearest tenths)

2) 13.72 + 3.43= 1719
3) 13.7 x3.4 =..§/£.-';8
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Model (4)

A)One of the students found a picture of one of the

tourist cities in Egypt and was able to identify the name of
the city by finding the value of unknown of each of the
following:

n o ©o0.24 4oo L

82+ x =9 0.6x04=x 840+ x =84

X) © ()
X is the( L.C.M) of 6% — = 5; Xls { G@Rdof two
two number 5 and 6 number 8 and 12

30 e ¢

- Write the letters in order according to the value of the
unknown ( to get the name of the city ):

“o X O
100 4 30 1 0.8
- The name of the city: L— UXor....

B) with using the following Model , color that represents

adecimal 0.73 .

N
X
N

o
X}

o

>
, XS]
KXSESEX

st eetan« e'e!
RGBS

S
SRS

SIPREAXXXS
K

N

X
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Model (5)

A) Use the following cards To find : 3 ) a4

- |

1) Five different decimal numbers formed from 3 digits including
whole number, a tenth and a hundredth :

542.8.24.4.28.4.82.2-48

2) Write The greatest and smallest number of the previous
numbers you have formed :

The greatest number is 8# ‘/42—
The smallest number is .&,.». l/ 8

3) When we multiply the two numbers 2.48 and 8.24 , we get

L2 YEX 8.2¢ = 20,4352

4) 482—...1/... + 0'8 .+ .@s02. (inexpanded form )

B) Match each the following cards from group (1) to

qroup (2):
8.74 X 8.74
3.42 X 3.425| 2.52 x | 2.52
5.32 6.22 5.945
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